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B2 A couE
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
EFEET = 6, 935, 523
ERLL R T = 52,877 | RpEF&IE 437 m2
fHEMIEL
ERLL R T = 28,981 | RpEFEIE 162 m2
fHEMIEL
TAT 7 MR EE T = 168,615 | B (B - B FH0) 45 m2
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R (HEGE - BRI )
FATRE 2T OHEL (25) (L0 100mm 1. 4m
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(124 v Sttt B E50mmA F) 5 4y/a-bade
W g (8 - B ) 53 m2
FAHRIEET A2/ (20) AHIEE 50mm 1. 4mASH
(124 v Sttt B E50mmA F) 5 4y/a-bade
Pk vEhLE - RIg (8 - BBE ) 53 m2
F =7A743/(20) EHEEE 50mm 1. 4mAST ; Fy)a
-hETAAD) BT
Bk PEERZE X 1,640,553 | T (BE - BRIE D) 162 m2
FEITyYr77 RC-40 A VW E 200mm ;
R (HEE - BRI ) 154 m2
RIFE TR M-30 L =Y /E 150mm ;
R (HEE - BRI ) 141 m2
FATRE 2T OHER (25) (L Y& 100mm 3. Om
;7 I k- E T
g (I - BIF ) 136 m2
FAEMURLEE 722y (20) FHEEE 50mm 3. Omi# ; #y/
-pETe
W g (8 - B ) 133 m2
FAEMURLEE 722y (20) FHEEE 50mm 3. Omi# ; #y7
-pETe
Bk vEShLE - RIE (HE - BBE ) 131 m2
F =7A743/(20) EHEEE 50mm 2. 4mPh b Fy)a
“hETAAY) BT
R (HEE - BRI ) 8 m2
FATRE 2T OHEL (25) (L0 100mm 1. 4m
Hfili ;5 7" ha-bETe
g (I - BIF ) 8 m2
FAHRIEET A2/ (20) AHIEE 50mm 1. 4mAST
(124 v Sttt v E50mmA F) 5 4y/a-bade
W g (8 - B ) 8 m2
FAHRIEET A2/ (20) AHIEE 50mm 1. 4mAST
(124 v Sttt v E50mmA F) 5 4y/a-bade
Pk vEShLE - RIE (HE - BE ) 8 m2
& —=JA7 A3/ (20) %%E 50mm 1. 4mAJi ; 4y)a
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BIE¥ESR
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& G T E2y 147,470 | BHEYIH| 201 m2
AHEEIEI6emEL T (4000m2LL F)  Bi#ET 0 S il
R (e
OE T (B gIH) 3 m3
TA77 Vb (BDED) ; FEHA S T
By 3 m3
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Fn AT =, 1,413,314 | L@ (H3H - B ) 20 m2
AR EET 22y (20) &H%EE 50mm 3. OmiH ; 4
yya-h e
M (HE - BEE) 282 m2
HAMRIET 22 (20) &HEEE 50mm 3. Omid ; ¥
yya-h e
HEAKMEARLE - g (H0E - BEE) 462 m2
F =7A743/(20) EHEEE 50mm 2. 4mPh b Fy)a
-hETAAD) BT
PN = T = 458,481 | HEAKIEGHEE - £ (BLE - BBEHD 201 m2
& —=JA7 A3/ (20) @@%E 50mm 2.4mPL E ; #y)a
- 12 - E @y TS R




;
T
iy
=
I

T4 | RFIRIE RS SEiR X ek B T

TEHEX Sy - THE - R B {7 % & # il pall 2! R
“bETAAY) ETe
HEKHEEY T = 195, 021
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H AT B MR T = 1 354, 270
EATEY L 2 1 161,270 |fRARFEE 10 %N
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[ERAE Xy = 1 89, 863, 124
HiE 2 2 1 16, 485, 350
BISTIGE: = 1 5, 538, 350
TERE 2 1 3,381,650 |QRRIEARENE 1 =
EERC T Sy A ERVA e <y 1 =
IR A T 1 2
; FEIAA U L &rde
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B R AT -MERE 1 =
BGRESCGES (5 1) = 1 2,076, 000
B (FEHL) = 1 10, 947, 000
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